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• When should the state Take positive action?
– Intervene in markets when they fail?
– Regulate in order to minimize externalities? 
– Provide public goods?
– Provide social safety nets for those who cannot 

participate in market allocation?
• Liberals are split between those who want the 

government to protect the market (economic 
liberals or libertarians) and those who want it to 
take positive action (political liberals)
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The split comes down to preferences for more freedom and efficiency 
(produces the ultimate social good) vs. more protection of equality and 

community (individual freedom can produce social “bads”)

• Freedom and efficiency preferred 
to equality and community

• Every time governments tamper 
with the market, they make 
markets less efficient and 
participants less free
– Freedom and efficiency lead to 

growth and welfare for all
• Markets don’t promise equal 

allocation of resources—in fact, 
that would be contrary to the 
idea of competition as the key to 
efficient market allocation

• They are not good at providing 
public goods or getting rid of 
externalities

• Equality and citizenship in the 
community is essential to the 
liberal idea

• Economic inequality can be 
tolerated but not if it leads to 
political inequality

• Provision of public goods 
enhances the sense of 
community

• All agree that the state should 
provide security to citizens and 
market actors---that means they 
should provide economic security 
as well—protection from 
externalities, social safety nets, 



Liberal Discontent
• A liberal cannot ignore the painfully illiberal features of our society. In many places, urban violence 

makes a mockery of the promise to protect every citizen from physical fear. 
• The homeless are deprived of the elementary security a liberal regime owes to all. 
• Decaying schools represent a national betrayal of liberalism's pledge to the next generation. 
• The steady increase of children living in poverty conflicts rudely with a liberal commitment to equal 

opportunity. 
• The rising costs of litigation have thrown into doubt the principle of equal access to the law.
• Rising campaign expenditures suggest that economic inequality is being converted directly into 

political inequality, against all liberal norms. 
• As the New York Times reports, "Sweeping aside a century-old understanding and overruling two 

important precedents, a bitterly divided Supreme Court today ruled that the government may not 
ban political spending by corporations in candidate elections." Will this accelerate the nation's 
turn toward plutocracy? Have the rules been so easily circumvented in the past that this new ruling 
will have no effect? Our question is as follows:
Money talks: What are the likely impacts of the Supreme Court ruling rolling back limits on 
corporate and union spending on federal campaigns? 

• black Americans still live to an appalling extent as a stigmatized caste. Infant mortality, poverty, 
unemployment, school and housing segregation, and reduced access to health care all indicate that 
social resources are being allocated according to skin color, not along individualistic lines.



Freedom and Rational Choice 
Theory

Compete or Cooperate?



Today’s session we will

• origins of rational choice
• assumptions of rat choice theory
• strategic interaction and prisoners dilemma
• Argue that cooperation is best for all but it’s hard to 

get: the problem of collective action
• Argue that Institutions and governments are necessary 

to ensure cooperation---ensure competition and more
• Rather than through government, problems of 

cooperation can be solved through the market 
mechanism: Coase Theorem



Answers come from building blocks of 
the liberal economic model!

• Economics seems to be the most successful of 
the social sciences
– Assumed that people are motivated by the drive for 

wealth
• Success led other social scientists to cast an 

envious eye in its direction
– They thought:  “If we follow the methods of 

economics, maybe we can achieve similar success!”
• So they began to build theories around the 

concept that people are rational.



And social scientists came up with 
rational choice theory

• A Word about Assumptions
• Assumptions the same as in economic liberal 

theory
– Free Individuals act in their own self-interest to 

achieve their goals
– Individuals make rational calculations to meet their 

goals
– Calculations are shaped by constraints and incentives

• Costs and benefits
• Strategic environment
• Strategic interaction



Can we meet our goals through 
cooperation or competition?

• Can you achieve your goals more rationally by 
cooperating with others or by striking out on 
your own?

• We make these calculations all the time…..



Game Theory

• Why Game Theory?

– A Game is a Model of reality: a simplified version of reality

– Game: a model of strategic interaction among players.  The 

game has three elements

1. Players (or actors)

2. Strategies:  plans of actions for all players that set out what 

player  does under all possible contingencies

3. Payoffs: How our goals are met



Game of getting what you want :  The Stag Hunt-

• In the the "stag hunt,”, two hunters must each decide whether to hunt the stag together or 
hunt rabbits alone. Half a stag is better than a brace of rabbits, but the stag will only be 
brought down with a combined effort. Rabbits, on the other hand, can be hunted by an 
individual without any trouble. 

• There are two rational outcomes to the stag hunt: Either both hunters hunt the stag as a 
team, or each hunts rabbits by himself. Each would prefer to cooperate in hunting the stag, 
but if the other player's motives or actions are uncertain—can we trust the other guy to come 
through?--, the rabbit hunt is a risk-free alternative. 

• Runs on banks and drops in the stock market can be explained by this analogy

• Those who withdraw all their money from banks or sell their stocks have decided to hunt 
rabbits. If they had confidence that other depositors would stay with the bank, there's not 
much doubt that their money would be safe. When they lost that confidence, the stag hunt 
was abandoned. And despite all the talk about panic, it was abandoned for perfectly sensible 
reasons. 
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Cooperation is always optimal but rarely achieved:  
Here is what the calculations look like:

• Let’s assume capturing a rabbit gives a payoff of 3, capturing the stag gives a payoff of 5 to each person, and capturing 
nothing is a payoff of 0.

• By nature of the game, if a player pursues the rabbit, he’s guaranteed a payoff of 3.
• On the other hand, if a player pursues the stag, the payoff depends on the other person’s choice. If the other person also 

chooses stag, then the stag is captured and each gets a payoff of 5. If the other person chooses rabbit instead, then the 
player captures nothing and gets a payoff of 0.

• The game can be solved by looking for the best responses. For each choice the other person might make, consider what’s 
best for you. A Nash equilibrium occurs when both players are picking best responses.

• What are the best responses? There are two choices to consider.
• First, consider if the other person picked stag. In that case, it makes sense to pick stag (5) over rabbit (3).
• Second, consider if the other person picked rabbit. Now, it is more sensible to pick rabbit (3) rather than stag (0).
• The best responses for each player are:
• –Rabbit is a best response to rabbit
• –Stag is a best response to stag
• This leads us to two Nash equilibriums in pure strategies (no mixing): both picking stag and both picking rabbit.

• What’s going to happen?
• The above analysis means there are two reasonable outcomes. It is possible both players go for rabbit, or both players go for

stag.
• This is a comforting solution as it demonstrates selfish incentives can produce social cooperation. Because the stag is a large 

prize, it’s possible both players will cooperate and achieve it. In fact, this outcome is the best–each player can be made better 
than the rabbit outcome. Hence, the stag outcome is said to be Pareto optimal.

• But is there something wrong with this outcome? On closer inspection, you might realize the stag equilibrium is risky.
• If you pick stag, and the other person does not match you, you end up with nothing. If you were a real life hunter a few 

hundred years ago, you might feel embarrassed. You would have to go home to your family and explain that you had a 
chance to bring home rabbit and feed everyone, but you instead were going for the big prize and failed. And the reason 
everyone is starving, you would suggest, is that your partner was stupid. I imagine such answers were the source of many 
domestic arguments.

• The rabbit equilibrium is less risky, and in this particular story, it has no risk. By choosing rabbit, you are guaranteed a tasty 
meal and a payoff of 3, regardless of what he other person does.

• This is why the rabbit equilibrium is called risk dominant. Although it has lower payoffs to each party than stag, picking rabbit 
might make sense because it is the “safe” option. 

cooperate

Defect
YOU

ME
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Should I join a study group or just 
study on my own?

Me

You

join Study alone

join

Study alone
1

1



That’s a second game: Strategic 
interaction and the prisoners dilemma

• There’s a HIGH Payoff, a SUCKER payoff, and LOW payoff
• With those outcomes, the logical choice is to defect from the advance agreement and betray 

your partner. Why? Consider the choices from the first prisoner’s point of view. The only thing 
the first prisoner cannot control about the outcome is the second prisoner’s choice. 

• Suppose the second prisoner remains silent. Then the first prisoner earns the “temptation” 
payoff (zero years in jail) by confessing but gets a year in jail (the “high” payoff) by remaining 
silent. The better outcome in this case for the first prisoner is to confess. But suppose, instead, 
that the second prisoner confesses. Then, once again, the first prisoner is better off confessing 
(the “low” payoff, or two years in jail) than remaining silent (the “sucker” payoff, or three years in 
jail).

• Because the circumstances from the second prisoner’s point of view are entirely symmetrical to 
the ones described for the first, each prisoner is better off confessing no matter what the other 
prisoner decides to do. 



Prisoners Dilemma
TOM

T
A
N
Y
A

Cooperate Defect

Cooperate

Defect

Tom goes free
Tanya does serious 
Time (sucker)
(5,0)

Tanya goes free
Tom does serious 
Time (sucker)
(0,5)

Both betray each
Other and confess
Both get early
Parole (3,3)

Both stay silent, 
Both get token 
Sentence  (1,1)



The problem is imperfect information 
and absence of trust

• There are two players, Row and Column. Each has two possible moves, “cooperate” or “defect,” corresponding, 
respectively, to the options of remaining silent or confessing in the illustrative anecdote above. For each 
possible pair of moves, the payoffs to Row and Column (in that order) are listed in the appropriate cell. R is the 
“reward” payoff that each player receives if both cooperate. P is the “punishment” that each receives if both 
defect. T is the “temptation” that each receives if he alone defects and S is the “sucker” payoff that he receives 
if he alone cooperates. We assume here that the game is symmetric, i.e., that the reward, punishment, 
temptation or sucker payoff is the same for each player, and payoffs have only ordinal significance, i.e., they 
indicate whether one payoff is better than another, but tell us nothing about how much better. It is now easy to 
see that we have the structure of a dilemma like the one in the story. Suppose Column cooperates. Then Row 
gets R for cooperating and T for defecting, and so is better off defecting. Suppose Column defects. Then Row 
gets S for cooperating and P for defecting, and so is again better off defecting. The move Dfor Row is said 
to strictly dominate the move C: whatever his opponent does, he is better off choosing D than C. By 
symmetry D also strictly dominates C for Column. Thus two “rational” players will defect and receive a payoff 
of P, while two “irrational” players can cooperate and receive greater payoff R. In standard treatments, game 
theory assumes rationality and common knowledge. Each player is rational, knows the other is rational, 
knows that the other knows he is rational, etc. Each player also knows how the other values the outcomes. But 
since D strictly dominates C for both players, the argument for dilemma here requires only that each player 
knows his own payoffs. (The argument remains valid, of course, under the stronger standard assumptions.) It is 
also worth noting that the outcome (D, D) of both players defecting is the game's only strong nash equilibrium, 
i.e., it is the only outcome from which each player could only do worse by unilaterally changing its move. 

• n game theory, if no player has anything to gain by unilaterally changing strategies, the game is said to be in a 
Nash equilibrium.



And imperfect information leads to 
behavior that causes social costs



Why so much doping?

NO DOPING
Low Payoff

Column gets 
High payoff 
because Row 
is a sucker 
and gets 
nothing

Row gets High 
payoff because 
Column is a sucker

We both dope because
At least we get something



Each of us, acting rationally, 
contributes to climate change

• Climate change will cost us trillions
• Climate change is endangering our life

Climate change will kill many plants
Climate change will destroy rain forests



Cooperation is optimal, but how do 
you get it?



You gotta have trust

• hard to move from the low-trust situation, to 
the more trusting situation. 

• You try to achieve what you want on your own 
because risk that others will defect.

• But trust lowers your perception of risk



The End
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